

Vendor Ranking

Page 1 of 1

Letting:

03191014

October 14, 2019 02:00 PM Call Order: 002

Contract: E3T19

District:

District 3

Counties: JACKSON

Fed Aid No: E191130E

Contract Time: 70 AVAILABLE DAYS

Project(s): 4453861K201 (*)

Contract Desc: SR 8 (I-10) AT EASTBOUND JACKSON COUNTY REST AREA

4453862K201

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	PBROWN BUILDERS, LLC	Responsive	Winning bid	\$289,955.00	100.00%
2	HOLLEY DEVELOPMENT CORPORATION	Responsive	Non-Winning Bid	\$304,798.00	105.12%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes. NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY Certied in accordance with Code of Federal Regulations Title 23. Chapter 1, Subchapter G, Subsection 635.113(b).



10/28/2019

Tabulation of Bids

Page 1 of 6

Letting: 03191014 October 14, 2019 **Call Order:** 002 **Contract:** E3T19

District: District 3 Counties: JACKSON Fed Aid No: E191130E

Contract Time: 70 AVAILABLE DAYS

Project(s): 4453861K201 (*)

Contract Descr: SR 8 (I-10) AT EASTBOUND JACKSON COUNTY REST AREA

4453862K201

The Improvements under this District Contract consist of Permanent repair/replacement of damaged items at the SR 8 (I-10) Rest Areas in Jackson County. Location of Repair Items can be found in the attached Jackson County Rest Area Repair Items Google Earth KMZ file. Each location provided in the KMZ file is approximate and subject to variability of quantified damage and location accuracy. All information provided within the KMZ file is provided for information only. Suggested sign messages provided within the KMZ file shall be coordinated with and approved by the Engineer prior to ordering of new signs. To navigate to each location of damage within the KMZ file, under the "Places" tab, ensure that all subfolders are open, and double-click on the desired item. Bids shall be based on the quantities reflected within the Bid Sheet. Additional damaged items noted in the field shall be repaired at the direction of the Engineer and will be compensated through a supplemental agreement. Except to the extent inconsistent with provisions in this document, which supersedes all other governing documents, all work shall be in accordance with the July 2019 Standard Specifications for Road and Bridge Construction, the FY 2019-20 Standard Plans for Road and Bridge Construction, and the 2017 Florida Building Code.

FHWA 1273 AND DAVIS BACON WAGE RATES ARE APPLICABLE FOR THIS CONTRACT

If YOU WILL BE SUBMITTING A BID AND WOULD LIKE TO EXAMIN THE SITE OF WORK SITES WILL BE AVAILABLE FOR EXAMINATION ON THE FOLLOWING DATE AND TIME:

THE WEST BOUND REST AREA SITE VISIT IS SCHEDULED FOR SEPTEMBER 23, 2019 @ 1:00 PM CST TIME. THE EAST BOUND REST AREA SITE VISIT WILL BEGIN IMMIDIEATLY AFTER.

Prequalification per rule 14-22 is not required. A Builder's License or General Contractor's License is required for this project. For buildings three (3) stories or less in height, a Builder's License or General Contractor's License is acceptable. Buildings more than 3 stories in height require a General Contractor's License. This building is less than 3 stories in height.

A COPY OF THE LICENSE MUST BE RECEIVED PRIOR TO AWARD.

Line No / Item ID Alternation	Units	(1) PBROWN BUILDERS, LLC		(2) HOLLEY DEVELOPMENT CORPORATION			
() indicates item is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		,				
005 0101 1 IOBILIZATION 4453861K201	(1.000) LS	18,000.00000	18,000.00	8,200.00000	8,200.00		
010 0101 1 IOBILIZATION 4453862K201	(1.000) LS	18,000.00000	18,000.00	8,200.00000	8,200.00		



Page 2 of 6

Florida Department of Transportation

Tabulation of Bids

Letting: 0319101	4 October 14, 20	19 Cal	l Order: 002		Contract:	E3T19	
Line No / Item ID A	ternate Quantity Units	(1) PBROWN B	UILDERS, LLC	(2) HOLLEY DE CORPOR			
() indicates item is bid as Lum	np Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway						
0015 0110 1 1 CLEARING & GRUBBING 445	(0.500) 53861K201 AC (LS)	9,000.00000	9,000.00	3,250.00000	3,250.00		
0020 0110 1 1 CLEARING & GRUBBING 445	(0.500) 53862K201 AC (LS)	9,000.00000	9,000.00	4,250.00000	4,250.00		
0025 0110 410 REMOVAL OF EXISTING CO	1,500.000 NCRETE SY	11.75000	17,625.00	24.67000	37,005.00		
0031 0515 1 2 PIPE HANDRAIL - GUIDERAI ALUMINUM	130.000 L, LF	85.00000	11,050.00	110.00000	14,300.00		
0035 0524 1 1 CONCRETE DITCH PAVT, NO REINFORCED, 3"	10.000 ON SY	750.00000	7,500.00	300.00000	3,000.00		
0040 0550 10220 FENCING, TYPE B, 5.1-6.0', \$	250.000 STANDARD LF	45.00000	11,250.00	25.00000	6,250.00		
0045 0550 10221 FENCING, TYPE B, 5.1-6.0', WIRE ATTMT	250.000 N/ BARB LF	60.00000	15,000.00	35.00000	8,750.00		
0050 0550 10222 FENCING, TYPE B, 5.1-6.0, V COATING	20.000 V/ VINYL LF	40.00000	800.00	55.00000	1,100.00		
0055 0550 60211 FENCE GATE, TYPE B, SING OPENING	1.000 GLE, 0- 6.0' EA	1,250.00000	1,250.00	1,200.00000	1,200.00		



FDOT

Florida Department of Transportation

Tabulation of Bids

Page 3 of 6

Letting: 03191014	October 14, 20)19 Cal	l Order: 002		Contract:	E3T19	
Line No / Item ID Alternate Item Description	Quantity Units	(1) PBROWN BUILDERS, LLC		(2) HOLLEY DEVELOPMENT CORPORATION			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway						
0060 0550 60233 FENCE GATE, TYPE B, SLIDING/CANTILEVER, 12.1-18' OPENING	1.000 EA	4,500.00000	4,500.00	3,600.00000	3,600.00		
0065 0570 1 2	100.000	60.00000	6,000.00	155.00000	15,500.00		
PERFORMANCE TURF, SOD	SY						
0070 0700 1 11	7.000	290.00000	2,030.00	700.00000	4,900.00		
SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	AS						
0075 0700 1 12	1.000	3,500.00000	3,500.00	300.00000	300.00		
SINGLE POST SIGN, F&I GROUND MOUNT, 12-20 SF	AS						
0080 0700 2 13	1.000	5,500.00000	5,500.00	375.00000	375.00		
MULTI- POST SIGN, F&I GROUND MOUNT, 21-30 SF	AS						
0085 0705 10 2	15.000	150.00000	2,250.00	280.00000	4,200.00		
OBJECT MARKER, TYPE 2	EA						
0090 0715 413	8.000	6,500.00000	52,000.00	8,989.00000	71,912.00		
LIGHT POLE COMPLETE, FURNISH INSTALL STANDARD POLE STANDA FOUNDATION, 40' MOUNTING HEIG	ARD						
0095 0715 4 70	8.000	750.00000	6,000.00	2,500.00000	20,000.00		
LIGHT POLE COMPLETE, REMOVE POLE AND FOUNDATION	EA						



10/28/2019

Tabulation of Bids

Page 4 of 6

Letting: 03191014	October 14, 20	19 Cal	l Order: 002		Contract:	E3T19	
Line No / Item ID Alternate Item Description	Quantity	(1) PBROWN BI	UILDERS, LLC	(2) HOLLEY DE CORPOR			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway				-		
0100 0715 11118 LUMINAIRE, F&I, ROADWAY, FLOOI	2.000 D EA	750.00000	1,500.00	498.00000	996.00		
0105 0715516115 LIGHT POLE COMPLETE-SPECIAL DESIGN, F&I, POLE TOP MOUNT, ALUMINUM, 15'	2.000 EA	5,850.00000	11,700.00	6,990.00000	13,980.00		
0110 0715518115 LIGHT POLE COMP- SPECIAL DESI F&I, DOUBLE ARM, POLE TOP MOU ALUMINUM, 15'		6,250.00000	12,500.00	6,990.00000	13,980.00		
0115 0715550000 LIGHT POLE COMPLETE- SPECIAL DESIGN, REMOVE	4.000 EA	1,000.00000	4,000.00	2,500.00000	10,000.00		
0001 Roadway Se	ection Totals:		\$229,955.00		\$255,248.00		
SECTION: 0002	Architectural						
0120	(1.000) 201 LS	22,000.00000	22,000.00	14,950.00000	14,950.00		
0125 0751 7 ARCHITECTURAL- ROOF REPAIRS 4453861K201	(2800.000) SF (LS)	38,000.00000	38,000.00	34,600.00000	34,600.00		
0002 Architectural Sc	ection Totals:	19	\$60,000.00		\$49,550.00		



10/28/2019

Tabulation of Bids

Page 5 of 6

Letting:	0319101	03191014 October 14, 2019		19 Ca	Call Order: 002		Contract:	E3T19	
Line No / Item			Quantity Units	(1) PBROWN I	1) PBROWN BUILDERS, LLC		(2) HOLLEY DEVELOPMENT CORPORATION		
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	Cont	ract Grar	nd Totals:		\$289,955.00		\$304,798.00		



10/28/2019

Tabulation of Bids

Page 6 of 6

Letting:

03191014

October 14, 2019

Call Order: 002

Contract: E3T19

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.